JOLICO J-B TOOL

SHIM PLATE

PRINTED COPY IS
UNCONTROLLED

FOR BOTTOMING / BALANCE BLOCK

FOR M12 SOC. HD. SCREW

FOR M6 SOC. HD. SCREW

R 38
FOR M12 SOC. HD. SCREW
6 FOR M6 SOC. HD. SCREW
l l r
Il A
T T 1
JOLICO CHRYSLER
NUMBER | CC NUMBER
J-999980 | 19-010-0109
R 40
T
1
JOLICO CHRYSLER
| NUMBER | CC NUMBER
J-999982 | 19-010-0207
_ /4R _ A
W\ FOR M6 SOC. HD. SCREW
R 50 !
\ FOR M12 SOC. HD. SCREW
' 57
rG
1 1
I I
T T r
JOLICO CHRYSLER
NUMBER | CC NUMBER
J-999981 19-010-0110

PHONE (586) 739-5555

11-2018

CC-3



